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dJrAAIY BEE 1 INEESRE
A = ES G 1% P
ORB8H 8 10:30 ~ 15115 BRIZHEE (KR —)UIRSEE)
98298 8 10:30 ~ 1515 BRIaEE (KR— LIRS
10868 8 10:30 ~ 15115 BRIZHE (KR —)UIRSEE)
108208 8 10:30 ~ 1515 BRIREE (KR— LIRS
118108 8 13:00 ~ SR BRISEE (KR —)UIRSEE)
118248 8 10:30 ~ 1515 BRIREE (KR— LIRS
12888 8 10:30 ~ 1515 BRIREE (AR —)LIRSES)
128228 8 10:30 ~ 1515 BRIREE (KR—)LR5EE)
TP BEE : WBB503%%
! = S (G 1% 2l
9H88 8 13:00 ~ 1700 EIREE (VR —)UERIT)
98298 8 13:00 ~ 1700 E3MFB=E (UNVR—)UIRIT)
10868 8 13:00 ~ 1700 EIMFEE (VR —)UERIT)
108278 8 13:00 ~ 1700 EIFB=E UNVR—)UIRIT)
118108 8 13:00 ~ 1700 EIMFEE (NVR—)UERIT)
118178 8 13:00 ~ 1700 E3FBE (UNVR—)UIRIT)
12818 8 13:00 ~ 1700 EIMFEE (NVR—)UERIT)
128158 8 13:00 ~ 1700 E3FBZE UNVR—)UIRIT)
1475 BEE . BATRSE
B = i G 1% i
98228 8 1210 ~ 13:00 F2ARERE
SB29H = 12110 ~ 13:00 E2AFEE
108138 8 1210 ~ 13:00 FE2ARER
108278 8 12110 ~ 13:00 E2AFEE
118108 8 1210 ~ 13:00 BRIaEE (KR—)LIRSES)
118178 8 12110 ~ 13:00 E2HFEE
12888 8 1210 ~ 13:00 FE2RER
128228 8 12110 ~ 13:00 E2HFEE
Fx0O BEE hEOIREE
! = E b5 % P
98218 T 10:30 ~ 14:00 FE2RER
9B28H T 10:30 ~ 14.00 E2AFEE
108198 T 10:30 ~ 14:00 BB R
108268 T 10:30 ~ 14:00 P2AREE
11828 T 10:30 ~ 14:00 BB R
118168 T 10:30 ~ 14:00 F2AREE
118308 T 10:30 ~ 14:00 BB R
12878 T 10:30 ~ 14:00 P2AREE
IV E3N2R BEE ERERSTE
A = i 5 B % P
98168 B-#| 1000 ~ 11:00 BB R
98228 8 10:00 ~ 11:00 F2AREE
108138 8 10:00 ~ 11:00 BAFEE
108278 8 10:00 ~ 11:00 F2AREE
118178 8 10:00 ~ 11:00 BAFEE
12818 8 10:00 ~ 11:00 F2AREE
12888 8 10:00 ~ 11:00 BAFEE
128158 8 10:00 ~ 11:00 FAREE
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